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5. Determine all perfect squares and perfect cubes between 200 and 300
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LEATRAE N
N\Nrw\ Nm\r\ N@J "__ perfect squares: Q&bm N@ 2% nw
| perfect cubes: \w_ _Q
6. Factor each of the following by removing the GCF:
a) 3x-15 b) 4x —12x* + 8x°
-4 (1-3x+2%*)

=3(x-5)
= 5x°y*(3x- 5y >~k Qv

c) 15x%y? —25x%y* —30x*y

7. Expand and simplify:
a) Ax%v b) A%v
LoV o

. ]
X +N¥_+\+X+® H\NM+\~\X|,M.VA =35
XX 4D = X4 2A-BS
c) ﬁ%v d) a%é
S ARG <K~ X2 =200 - B x + &
> O ZaSX=3 Y Sl ARa Y o
8. Factor: WMW\ ) i1ml,|..l_+n 2D
a) x> +6x+8 iwn.fnrlf = b) x* -9x+20 S Ps 10_
= (XAD(Kreh) = (xS Mz =2F)
_ s g IR
c) x*-3x-18 002 ==1B d) x*-5x+4 - 4 -4 W*.\
i - (XA T
=(X—b)(xx¥3) -
9. Factor completely:
e) 5x*+5x—150 f) —2x% +10x + 48 \m.Muu 24
= B(X24X- wOV =2 (XESX-24)

=5 (x+b)(X- mu e m;,;_wﬁ.U = =2 (X-8)(x+3)



